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a = [0, 10, 20, 30, 40, 50]

i =al[-1] # 50
= al[-2] # 40
a0l L Cuwl oslatwl (LB o aild) o 1SS
st = "012345"
ch = st[-1] # "5"
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1aile ogu so 9, Hlas ;5 ubb sac I Ju8 Gl G b range b

a = [0, 10, 20, 30, 40, 50]
b = af[l:5] # [10, 20, 30, 40]
c = al0:1len(a)] # [0, 10, 20, 30, 40, 50]
:3lo 594 50 ai8)S oS Hawo jlel cdls el )5 aS (eumngio |, T ewilgs oo range sibo po 5L
b = al:5] # [0, 10, 20, 30, 40]
1aile ogu g0 498 Hlas 55w slgl b len clls ¢l 53 S (ounngis | 0L ewles oo
b = afll:] # [10, 20, 30, 40, 50]
:30le Ll Cawys 0L g 5Ll gl oo slacl jl oslaswl aiSs
b = al:-2] # [0, 10, 20, 30]
b = af[2:-2] # [20, 30]
b = a[-4:-2] # [20, 30]
13,5 oslasianl Hgaws ¢l 5l 0lgi oo o o JS 5l 18)S (S sl 1O
b = al:] # [0, 10, 20, 30, 40, 50]
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a0l .l oslatwl (LB o did) > 1SS

stringl = "012345"
all:5]# "1234"

string2
duwid.reverse ()

a = [0, 10, 20, 30, 40, 50]
a.reverse () # [50, 40, 30, 20, 10, 0]

Hadbigd Olgised ol

Xb = a.reverse ()

X print (a.reverse())
[y oslaiwl JlB po aid; ;> 1aiss
X stringl.reverse ()
Il dde in Qs
13ilo .39 50 o3laiwl notin b in Sl @b b e Caaud G 55 Hlade aSepl w0 lp

a = [0, 10, 20, 30, 40]
b = int (input())
if b in a:

print ("hast!")
if b not in a:

print ("nist!")

a0l Ll slatwl (LB po aid) > 1SS
g = input ()
if "helli" in q:
print ("OK!")
Suwsd.index (| L)

1aile . 0305,8 o) |y ol uamBoo (bl @bl gzg Camdd 55 lade ,b Sl i ST 14

a = [20, 40, o0, 20, 40, 060]
a.index (40) # 1
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51 Gy OByl it el 39400 abgio las ply b doliy bl 4dlas 5929 Carnad 55 lade )31 :ais

.

S oslaiwl in 1 sub Hgiws ¢l 5l eslatiuwl
rale .l oslatwl (LB o did) > 1SS

hex = "0123456789%abcdef"
g = input ()
b = a.index(s)
if s in hex:
print (hex.index (q))

for j4axio in Swsd:

| (S ddls g5 o Azl ) Aol o Caud glacl plod 4 wyiws glp g 9 SHRew Gy S

a = [20, 40, 00, 20, 40, 60]
for x in a:
print (x)
for 1 in range(len(a)):
print(ali])

ea5S oslatwl range (0038 g Oles I Cuwl Jigs (euyls HIS po Cw slacl o)louis b aS (g3)lg0 > 1SS

railo L 3015,8 ojL 1) a5l Wy SO a9y 4o g il slaiwl 6 o did; s 1SS

for ch in "abc":
print (ch)
:Lf.>9)';>
a
b
c

43 y.split(odiiS | ux)
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a
b

"yek-do-se"
a-split("_") # ["yek", "dO", "Se"]

gy Aiolgs 0aiiSTas ("\n") enter g ("\t") tab (" ") alold Cdls ppl 3 L EaiSS Yasiie |) 0aiSTas puilgi o

2aule

a = "m\tcm mm\nKg gr"
a.split () # ['m', 'cm', 'mm', 'Kg', 'gr']
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type (x)

If type(a) == type(b):
print ("OK!")

S egr bl ol g95 Senl dgl -3)l5 3929 0y 93 w3 b ol o £95 51 sustio SO ouiS ooy Sl ol
silo oS duanlite Caru)

if type(a) == type([]):
print("is list")

[o.uS Ch.uJLQ.o list (_;A.J.SdnlSLJ |) UT&ngSw' UJ' Cawl P E] °|)‘6P9-3 o|)

if type(a) == list:
print ("is list"™)

94y 50 0318l str g3l 4alS Sl aid) sl g Int GalS kS jl qums sae Gl 9o o) 5o
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time.time ()

95 ol Abold b @uiS o @S pa i 1) 4k 3)90 35 azhad hal 5l G g Ll Oloj 45 g ol 4wl S
1 Uged . Aguh Latuin Oloj
import time
t0 = time.time ()
f=1
for i in range (10000000) :
f=f*i
tl = time.time ()
print (t1 - tO0)

time.sleep (L))
315 slgs dalsl | daliy ghal @y G 9 31550 455 S pazeine Oloj Wie sy |y 4abp giws ol
ol 4l cans ol
o
import time
print (time.time ())

time.sleep (3)
print (time.time())
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turtle ys YAy

turtle.mainloop ()

1S locdlzd plas 4oly dils gl 55 .5l 0Ll 4ils Sy 4 5L 390 plad Sl 6l ldalyy o
35S solgs Sleshd |y legali 3 oY dg 4o g 1S e sy b . g el @S

gl 50 030U 3las 63 SL lowJl=d g mainloop L Lol adls> adls

9 Muwgi oo &S o |y Llol adls Guogd a4l J8 0358 eslw il turtle aiile o)lpl g lodilsaliS 5,0
2 A e ddls> @ Jlhgiws bl o3V adls Slgsé 51 Jud andl oS Slesd 1) of cunl 818 lass
S Slehe 1y &b plas slas) ,e

3olg3s (6,1 uo Al lgis @ (ouiSS Sles )9 |y ol adls>  Jg puiS pulais |) loslas lasd Sl as cuwl g
8l salgs oLL ash )8

turtle.onscreenclick (5 45 &= L3)
g (Slelh8 &l plas 3,8 SS turtle axbis (g9; 10)8 (Sijguo 4> 23S 0 pMel turtle.mainloop <y

2L slas, &Gl plo .5)ls ol ) saus SIS dlad glas)l g yoye jiol)b 95 a5 Cuwl (golas) LS 1SS
120l g Skel)ly 95 Joli

import turtle
turtle.onscreenclick (turtle.goto)
turtle.mainloop ()

import turtle

def circlelO(x, y):
turtle.pu()
turtle.goto(x, V)
turtle.pd()
turtle.circle (10)

turtle.onscreenclick(circlelO)

turtle.mainloop ()

2l 51,8 None [ slas, &U 20U bagd .5, eslaiwl Hgiws aoo jl Olgi s SS slas, oalisl 8 1 gl 1auss

a0l

turtle.onscreenclick (None)
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turtle.onkeypress (sl 4= &= LS, 44ds)

D9 (Slgh8 &l plasS 5,8 |) 3ulS axbio slaaulS 51 (SO 50,8 g )5 2iS 0 pMel turtle.mainloop ay

8 M1 e siile ol iy Sy 2S5, ay p slas, &b Sy S e ¢l Olgl e

L Shift 9w L;J Al Gglatie "C' L " A4Sy plplo Ll Gulus kS/))J 9 LS:>95 g > @ KV LEV¢]
"Up", "Down", aibe g | ool pU 3ub loaudS (350 iy gl craicean . puSe (5,595 9 Cawwl Caps Lock
$dsS> (gl "Return" 3.5 g "BackSpace" ("Space" ("Escape" ("F12"U "F1" (lod Cup> sloaudS sl "Right", "Left"

.Enter
g0d loaudS K388 K55 @0 eS|, turtle 3L turtlelisten() Hgiws b losudS cay e 5l Guy 14iSs
:Jbo

import turtle

turtle.onkeypress (turtle.bye, "Escape")
turtle.onkeypress (turtle.clear, "c")
turtle.listen()

turtle.mainloop ()

turtle.ontimer (s 45 &= LS, OLlo))

S Slgho 1) olas) &b sy s aS S o pMel turtle.mainloop <

3 dolgs

soiaws 05bg3 55 dasy &b lpil )5 g .3l 1,8 Slasy &I 090 ) Ol Vlgise 35 So v LSS (gl 1SS
1355le L3900 (Slg148 1) ontimer

import turtle
def repeat():
turtle.fd (100)
turtle.ontimer (repeat, 1000)
turtle.ontimer (repeat)
turtle.mainloop ()

[V]



Jol Jw i — pgd Ul — 0gisly (gl dolip Ol jgiaws

filel = open(Jold wysl, Lwilwd g g)

S . j92iag 43 "C:/folder/phone.txt” b (uSeid ;> "/home/user/phone.txt" Jis .l sy o Jald Gu)sl
g0 4i8)S a5 )5 315 H1B O 53 ol 395 S (g o 218 s "phone.txt” 3ilo puwagio ) Ja18 pU Lasd
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dJlB U.).J|9> L.Sl)-.’ r" e

sl 51 s g gl "W e

nan

Q8 aolsl s yidgs gl "a" e

Joloo Hgiwd 93 ol - Cuiigis |) wyiwd §65 dgub o0 (Sl (') (H5lgS (gawpiand £95 (049 L 1AST
 Ailts 00

filel = open (Jols wyoT)
filel open (Jolsd wysT, "r")

filel.close ()
$ S 50 oalaiwl jgiws ol 5l L 1wy

a6 crinan b b sad Jiiie Jalb 4y g 3,65 0 518 Sle alasdls s leMbl Lol (s 5 SleMbl ¢idg
a0 San Jald @ el (i g 63 Jiike Julb @y SleMl

X9 o A 8395 Wyguo 4y (ilosd 5L aS ola bl plad aslipn 0LL L SO
filel.read()

filel = open("story.txt") story. txt
stringl = filel.read()

Salam.
Yeki bood yeki nabood.

Payan!

stringl = "Salam.\nYeki book yeki nabood.\n...\nPayan!"
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filel.readlines ()

ke .m0 Jagsd a5l s Sy g @ g 3l o ) Julb Sy elgize JS

filel = open("story.txt")
listl filel.readlines ()

listl = ["Salam.\n", "Yeki book yeki nabood.\n", "...\n", "Payan!"]
filel.readline()

35lo 30350 Jagos Lo 4y iy Sy Chyge0 4y 5 2l o |y ol Sl las Sy add gt ol sl b o
filel = open("story.txt")

stringl = filel.read()
string2 = filel.read()

stringl = "Salam.\n"
string2 = "Yeki book yeki nabood.\n"

filel.write ((iw)
1glai iz bl print jgiws auldie jgiws ¢l . aawgi 0 2 5o | yie

)8 iy o o | sl + 5l eslatiuwl b b Hladie s g sl 3,08 50 (639,9 S Lais o
3,8 oslaiwl las slpil ghy "\n" CMe 10U Lo Oy 55 39,00 s b e
:3)S a0 Juss [ of str jeiws b 3ol e g sl - 3blb aidyy 35lg5 o0 1add (39,9 o @

:a0lo
filel = open("a.txt", "w") a.txt
a = 10*10+10 a1
filel.write("Sal") aa—aTiO

filel.write ("am.\n")
filel.write("a = " + str(a))
filel.close()
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